

Nosocomial infections and risk factors in intensive care unit of a university hospital in Turkey

Research Article

Burcin Ozer^{1*}, Muserref Tatman-Otkun², Dilek Memis³, Metin Otkun⁴

¹ Department of Microbiology and Clinical Microbiology, School of Medicine, Mustafa Kemal University, 31100 Hatay, Turkey

² Department of Microbiology and Clinical Microbiology, School of Medicine, On Sekiz Mart University, 17100 Çanakkale, Turkey

³ Department of Anesthesiology and Reanimation, School of Medicine, Trakya University, P22030 Edirne, Turkey

⁴ Department of Infectious Disease and Clinical Microbiology, School of Medicine, On Sekiz Mart University, 17100 Çanakkale, Turkey

Received 15 June 2009; Accepted 22 July 2009

Abstract: The aim of this study was to determine the types nosocomial infections (NIs) and the risk factors for NIs in the central intensive care unit (ICU) of Trakya University Hospital. The patients admitted to the ICU were observed prospectively by the unit-directed active surveillance method based on patient and the laboratory over a 9-month-period. The samples of urine, blood, sputum or tracheal aspirate were taken from the patients on the first and the third days of their hospitalization in ICU; the patients were cultured routinely. Other samples were taken and cultured if there was suspicion of an infection. Infections were considered as ICU-associated if they developed after 48 hours of hospitalization in the unit and 5 days after discharge from the unit if the patients had been sent to a different ward in the hospital. The rate of NIs in 135 patients assigned was found to be 68%. The most common infection sites were lower respiratory tract, urinary tract, bloodstream, catheter site and surgical wound. Hospitalization in ICU for more than 6 days and colonization was found to be the main risk factor for NIs. Prolonged mechanical ventilation and tracheostomy, as well as frequently changed nasogastric catheterization, were found to be risk factors for lower respiratory tract infections. For bloodstream infections, both prolonged insertion of and frequent change of arterial catheters, and for urinary tract infections, female gender, period and repeating of urinary catheterization were risk factors. A high prevalence rate of nosocomial infections was found in this study. Invasive device use and duration of use continue to greatly influence the development of nosocomial infection in ICU. Important factors to prevent nosocomial infections are to avoid long hospitalization and unnecessary device application. Control and prevention strategies based on continuing education of healthcare workers will decrease the nosocomial infections in the intensive care unit.

Keywords: Intensive care unit • Nosocomial infection • Risk factors

© Versita Sp. z o.o.

1. Introduction

Patients in the intensive care units (ICUs) are 5 to 10 times more likely to acquire nosocomial infections (NIs) than other hospitalized patients. This increased risk of nosocomial infection (NI) is the result of 3 major factors: (a) intrinsic risk factors related to the need for intensive care, such as severe underlying disease, multiple illnesses, malnutrition, extremes of age, and

immunosuppression; (b) invasive medical devices, such as endotracheal tubes for mechanical ventilation, intravascular catheters, and urinary tract catheters; and (c) crowding and animate reservoirs (e.g. colonized or infected patients), which increases the risk of cross-infection in the ICU [1].

The high rate of infections in the ICU results in the use of broad spectrum antibiotics and ultimately, the emergence of antibiotic-resistant microorganisms [2]. Antimicrobial resistance results in increased morbidity,

* E-mail: burcinozer@yahoo.com

mortality, and costs of health care. Therefore, the surveillance and control of infections in ICUs are important [3,4]. The surveillance programs provide data useful for identifying patients, determining the site of infection, and for identifying the factors that contribute to NIs [5].

This study was designed to investigate the NIs and risk factors occurring in the central ICU of Trakya University Hospital.

2. Material and Methods

The study was conducted over 9-month-period at the 6-bed central (medical/surgery) adult ICU of 857-bed Trakya University Hospital in Edirne, Turkey. The patients hospitalized in the ICU were evaluated prospectively with a unit-directed, active surveillance method based on laboratory and the clinical examinations. Patients with an ICU stay less than 2 days were excluded. The APACHE II scores were computed for evaluating the illness severity on admission. The patients were monitored for NIs at all body sites. Samples of urine, blood, sputum, or tracheal aspirate were taken from the patients on the first and the third day of their hospitalization; patients were cultured routinely. Other samples were taken and cultured if there was suspicion of an infection. Infections were considered as ICU-associated if they developed after 48 hours of hospitalization in the unit and 5 days after discharge from the unit if the patients had been sent to a different ward in the hospital. NIs was defined in accordance with the NI definition of US Centers for Disease Control and Prevention [5]. The device utilization ratios and the device-association infection rates were calculated [6]. This study was approved by the Ethics Committee of Trakya University Hospital.

Student's t test, Mann-Whitney U test, χ^2 , and Fisher's exact χ^2 tests were used for statistical analysis. $P < 0.05$ was considered significant. Also a logistic regression model was used in order to evaluate the risk factors of infections.

3. Results

Over the 9 month-period, 135 patients (63 female and 72 male) with a mean age of 57.8 ± 17.5 (min 16-max 84) were involved in the study. The characteristics of patients are shown in Table 1. They remained a mean 9.2 ± 7.5 (range 2 - 43) days in ICU. A mean of APACHE II scores was found as 14.3 ± 4.8 (range 4 - 24). We could not find any relation between the nosocomial infection and the risk factors belonged to the patients (respiratory deficiency,

unconsciousness, usage of H_2 receptor blocker, usage of steroid, usage of immunosuppressive drug, general body trauma, malignity, diabetes mellitus, neutropenia, renal failure, liver failure) (χ^2 , $P > 0.05$). Overall, 31% of the patients had multiple underlying diseases, 22% of them did not have an underlying disease. Diseases observed frequently included cerebrovascular, cardiovascular, malignancies from cancer, and chronic obstructive lung disease. Sex, age, APACHE II score, and underlying disease were not significant risk factors for NI (Student's t test, χ^2 , $P > 0.05$).

A total of 92 NI episodes were observed in 58 patients. The mean acquiring time of NI was 8.4 ± 7.1 (range 2 - 38) days after acceptance to ICU. The risk was increased 2.13 folds after six days of hospitalization (95% CI: 1.51-3.01). The infection sites were the lower respiratory tract (50%), urinary tract (23%), bloodstream (21%), catheter site (3%), and the surgical site (3%).

All the patients had urinary catheterization and most of the patients had mechanical ventilation (93%) and nasogastric catheterization (92%). The relationship between invasive procedures and NIs are shown in Table 2. Tracheostomy and mechanic ventilation were found as the risk factors for lower respiratory tract infection (LRTI) (χ^2 , $P < 0.05$). An intubation period ≥ 1 day and tracheostomy period ≥ 1 day increased the risk for lower respiratory tract infection, respectively 1.23 folds (95% CI: 1.106-1.370) and 1.13 folds (95% CI: 1.046-1.221). Ventilator utilization ratio was 0.96 and ventilator-associated pneumonia rate was found as 3.9/1000 ventilator-days. Frequent changing of the nasogastric catheter was also a risk factor for LRTI (Student's t test, $p < 0.05$).

The catheter-associated urinary tract infection rate couldn't be calculated as all the patients had a urinary catheter. Female sex was the main risk factor for urinary tract infection (UTI). The UTI risk was increased 1.1-fold by the urinary catheterization period ≥ 1 day (95% CI: 1.049-1.188) and 2.3-fold by female sex (OR: 2.32, 95% CI: 0.782-6.890). Renal failure, diabetes mellitus, and the older age were found not significant for UTI (χ^2 , $P > 0.05$).

The presence of arterial catheters and hemodialysis did not increase the risk of bloodstream infections (χ^2 , $p > 0.05$). However, the bloodstream infection risk was increased 1.2-fold by the arterial catheterization period ≥ 1 day (95% CI: 1.106-1.370). Catheter utilization ratio was found as 0.95, catheter associated bloodstream infection rate was found as 5.64 / 1000 catheter days.

38 patients were colonized by the microorganisms during their stay. Mechanical ventilation and prior antibiotic usage did not affect the colonization rate (χ^2 , $p > 0.05$). The colonization was established in the

Table 1. Characteristics of patients involved in the study.

Characteristics		Patients with NI (n)	Non-infected Patients (n)	P value
Gender	Female	29	34	>0.05
	Male	29	43	
Age (mean)		55.9±18.5	59.3±16.7	>0.05
APACHE II score on admission (mean)		13.6±4.7	14.8±4.8	>0.05
Length of stay (mean)		13.4±8.7 days	6.1±4.4 days	<0.05
Length of stay	≥6 days	43	24	<0.05
	<6 days	16	52	
Mortality		38	47	>0.05
Underlying disease				>0.05
General body trauma		9	9	
Malignancy		9	14	
Diabetes mellitus		4	2	
Neutropenia		4	3	
Renal failure		4	8	
Liver failure		0	2	
Cerebrovascular disease		10	11	
Cardiovascular disease		11	16	
Chronic obstructive lung disease		7	5	
Tuberculosis		1	3	
Admission diagnosis				>0.05
Unconsciousness		50	66	
Respiratory deficiency		58	75	
Postoperative		19	24	
Cardiopulmoner arrest		8	13	
Intoxication		2	6	
Aspiration pneumonia		6	1	
Emergency surgery		13	13	
Elective surgery		5	13	
Preeclampsia		0	2	
Other risk factors				>0.05
Usage of H ₂ receptor blocker		48	56	
Usage of steroid		12	12	
Usage of immunosuppressive drug		12	13	
History of hospitalization		43	54	

patients' 7.6±7.7th (1-38) days after admission and the duration of hospitalization was related to the colonization rate. NI rate was 60% (23 of 38) at colonized patients while it was 36% (35 of 97) at non-colonized patients (χ^2 , $p<0.05$). In ten (26%) patients NI developed with the same microorganisms and at the same system where the colonization was determined.

A total of 85 (63%) patients died. NI developed in 38 (44.7%) of these patients. No significant relationship with death and NI was found (χ^2 , $p>0.05$).

4. Discussion

NIs can vary between countries according to the establishment of preventive measures and developmental status, between the hospitals according to the spectrum of their patients, between the wards of the hospitals according to treatment and intervention.

In this study, the NI rate (68%) in ICU is higher than the NI rates in many university hospitals in Turkey [7,8] and in the other countries [9,10]. Using active surveillance method not only based on the patient but also on laboratory and monitoring the patients 5 days

Table 2. The invasive procedures and their relation with the nosocomial infections.

Invasive procedures	Patients who had nosocomial infection**		Patients who didn't have nosocomial infection		Total	χ^2	p
	n	%	n	%			
Urinary catheter*	58	43	77	57	135	-	-
Mechanical ventilation	46	37	79	63	125	5.582†	<0.05
Nasogastric catheter	44	35	80	65	124	1.346	>0.05
Tracheostomy	27	57	20	43	47	17.534	<0.05
Arterial catheter	56	44	72	56	128	0.595†	>0.05
Perfusion catheter	42	45	52	55	94	0.748†	>0.05
Hemodialysis	2	50	2	50	4	0.054†	>0.05
Peritoneal dialysis	1	13	7	87	8	0.21†	>0.05
Drainage catheter	5	83	1	17	6	0.164†	>0.05

*: The catheter-associated urinary tract infection rate couldn't be calculated as all of the patients had urinary catheter

**; The infections related with the invasive procedures

†; Fisher's exact χ^2

after discharge of the unit might have been the reason of the higher NI rate. The distribution of infection sites were reported different in some of these studies from the other countries and the same in some [11-13]. NIs acquired frequently in ICU is lower respiratory tract, urinary tract, bloodstream, surgical wound and catheter associated infections [13]. As mentioned above, the NI frequency and distribution of infection sites are different. So every hospital must take precaution according to their data.

In this study, the ratios of ventilator, catheter and urinary catheter utilization were found higher than those of the other studies. Ventilator associated pneumonia rate in 1000 ventilator days and catheter associated bacteremia rate in 1000 catheter days were found lower than the others [14]. Yet the bacteremia rate was found higher than the bacteremia rate which was reported by McCusker et al. [13]. In this study, although the utilization of these invasive devices were high and prolonged invasive procedure was found as the risk factor for NIs, it was positive that the infection rates in 1000 patient days were low. We could not determine the frequency of catheter associated with urinary tract infections because urinary catheters were carried out to the all patients. Yet urinary catheter was probably the most important risk factor for urinary tract infection and this data was propped up by the invention of the relation between the urinary tract infection with the prolonging urinary catheterization and changing them frequently [15].

Determining the risk factors for NIs was important to control them. Raad et al. [16] reported that the dressing the entrance of catheter site and changing the infusion tube in every 24 hours were more effective than changing the catheter once in every three days. In this study, duration of arterial catheter and changing them frequently were found to be risk factors for bloodstream infection.

In the studies which the investigators examined the risk factors for NIs in ICU and were carried out in the other countries; Girou et al. [12] reported the urinary catheter, McCusker et al. [13] and Gusmão et al. [17] reported mechanical ventilation as risk factors for NIs. Tissot et al. [18] found the catheterization period >11 days and female sex as risk factors for catheter associated bacteriuria. And also Leone et al. [19] reported that female sex, length of ICU stay and duration of catheterization were associated with an increased risk of catheter associated bacteriuria. Apostolopoulou et al. [20] reported that duration of mechanical ventilation ≥ 5 days was risk factor for ventilator associated pneumonia. In our study, finding the hospitalization in ICU more than 6 days and colonization to be the main risk factors for nosocomial infections showed that severely ill patients tend to have longer hospitalizations and thus have a greater risk of developing a nosocomial infection. And the study from our country, Meric et al. [21] reported length of stay in ICU (>7 days), respiratory failure as a primary cause of admission, sedative medication, and operation (before or after admission to ICU) as significant risk factors for nosocomial infections in intensive care unit.

We did not find a significant relationship between APACHE II score and NI in contrast to Girou et al. [12] and Apostolopoulou et al. [20].

In this study, we found a relationship between colonization and NIs. So it is important to prevent colonization by giving importance to hand washing. In addition, if a bacterial infection has been determined, invasive devices must be changed and an infected patient must be insulated from the other patients to prevent transmission of the microorganisms.

5. Conclusion

A high prevalence rate (68%) of nosocomial infections was found. The main risk factor for Nis were hospitalization in ICU for more than six days and colonization. Prolonged mechanical ventilation and tracheostomy, as well as frequently changed nasogastric catheterization, were found to be risk factors for lower respiratory tract infections. For bloodstream infections, prolonged and frequently changed arterial catheters, and for urinary tract infections, female gender, the period and repeating of urinary catheterization were the risk factors.

This study shows that prevalence rates of intensive care unit-acquired infections are high and suggests that important factors to prevent nosocomial infections are to avoid long hospitalization and unnecessary device application.

References

- [1] Weber DJ, Raasch R, Rutala WA. Nosocomial infections in the ICU: The growing importance of antibiotic-resistant pathogens. *Chest*. 1999;115(suppl): 34-41
- [2] Akalın H., Dirençli bakterilerin neden olduğu Nozokomiyal enfeksiyonlar ve enfeksiyon kontrolü, *Türkiye Klinikleri J Microb Infect*, 2003, 2, 104-107
- [3] Shlaes D.M., Gerding D.N., John J.F. Jr, Craig W.A., Bornstein D.L., Duncan R.A. et al., Society for Healthcare Epidemiology of America and Infectious Diseases Society of America Joint Committee on the prevention of antimicrobial resistance: guidelines for the prevention of antimicrobial resistance in hospitals, *Clin Infect Dis*, 1997, 25, 584-599
- [4] Souweine B., Traore O., Aublet-Cuvelier B., Bret L., Sirot J., Laveran H., Deteix P., Role of infection control measures in limiting morbidity associated with multi-resistant organisms in critically ill patients, *J Hosp Infect*, 2000, 45, 107-116
- [5] Horan T.C., Gaynes R.P., Surveillance of nosocomial infections, In: *Hospital Epidemiology and Infection Control*, 3rd ed., Mayhall CG, editor, Philadelphia: Lippincott Williams & Wilkins, p. 1659–1702, 2004
- [6] National Nosocomial Infections Surveillance (NNIS) System Report, Data Summary from January 1992-June 2001, issued August 2001, *Am J Infect Control*, 2001, 29, 404-421
- [7] Cetin B.C., Turgut H., Kaleli I., Yalçın A.N., Orhan N., Nosocomial infections in the intensive care unit of the Hospital Pamukkale University Medical School, *Turkish J Hosp Infect*, 2002, 6, 98–101
- [8] Mutlu B., Akhan S.C., Gündes S., Altındag N., Vahaboglu H., Prevalence of nosocomial infections in intensive care unit of Kocaeli University Hospital, *Turkish J Klimik*, 2001, 14, 89–90
- [9] Klavs I., Lužnik T.B., Škerl M., Grgič-Vitek M., Zupanc T.L., Dolinšek M. et al, Prevalance of and risk factors for hospital-acquired infections in Slovenia-results of the first national survey, 2001, *J Hosp Infect*, 2003, 54, 149–157
- [10] Urli T., Perone G., Acquarolo A., Zappa S., Antonini B., Candiani A., Surveillance of infections acquired in intensive care: usefulness in clinical practice, *J Hosp Infect*, 2002, 52, 130–1355
- [11] Kim J.M., Park E.S., Jeong J.S., Kim K.M., Kim J.M., Oh H.S. et al, Multicenter surveillance study for nosocomial infections in major hospitals in Korea, *Am J Infect Control*, 2000, 28, 454–458
- [12] Girou E., Stephan F., Novara A., Safar M., Risk factors and outcome of nosocomial infections: results of a matched case-control study of ICU patients, *Am J Crit Care Med*, 1998, 157, 1151–1158
- [13] McCusker M.E., Pèrissè A.R.S., Roghmann M.C., Severity of illness markers as predictors of nosocomial infection in adult intensive care unit patients, *Am J Infect Control*, 2002, 30, 139–144
- [14] Finkelstein R., Rabino G., Kassis I., Mahamid E., Device-associated, device-day infection rates in an Israeli adult general intensive care unit, *J Hosp Infect*, 2000, 44, 200-205
- [15] Leblecioğlu H., Nozokomiyal Üriner Sistem Enfeksiyonları, *Türkiye Klinikleri J Int Med Sci*,

Acknowledgements

This study was granted by Trakya University Scientific Research Projects (TUBAP- 544). The statistical analyses were performed by Burcu Tokuc MD, PhD. We would like to thank her for her contribution.

Competing interests

The author(s) declare that they have no competing interests.

- 2007, 3, 26-33
- [16] Raad I.I., Darouiche R.O., Catheter-related septicemia: risk reduction, *Infect Med*, 1996, 3, 807-823
- [17] Gusmão M.E.N., Dourado I., Fiaccone R.L., Nosocomial pneumonia in the intensive care unit of a Brazilian university hospital: an analysis of the time span from admission to disease onset, *Am J Infect Control*, 2004, 32, 209-214
- [18] Tissot E., Limat S., Cornette C., Capellier G., Risk factors for catheter-associated bacteriuria in a medical intensive care unit, *Eur J Clin Microbiol Infect Dis*, 2001, 20, 260–262
- [19] Leone M., Garnier F., Avidan M., Martin C., Catheter-associated urinary tract infections in intensive care units, *Microbes Infect*, 2004, 6, 1026-1032
- [20] Apostolopoulou E., Bakakos P., Katostaras T., Gregorakos L., Incidence and risk factors for ventilator-associated pneumonia in 4 multidisciplinary intensive care units in Athens, Greece. *Respir Care*, 2003, 48, 681-688
- [21] Meric M., Wilke A., Caglayan C., Toker K., Intensive care unit-acquired infections: incidence, risk factors and associated mortality in a Turkish university hospital. *Jpn J Infect Dis*, 2005, 58, 297-302